whereswaldo

EGOI Practice Session Tasks
Armenian (ARM)

i el
VN

EGOI

Where's Waldo?

Problem Name whereswaldo
Time Limit 11 seconds

Memory Limit 1 gigabyte

Uw N Gpywnpnpjwu Py, Py, ..., Py—1 nGnwithnpunipyniu, npp pwpgywé k, Gptohuwdnpynud
E, np wu qgGuGpwgyb] £ ywunwhwywu yepwny: Stnwihnhunipjntup ywnpntuwyned E
1,2,3,..., N pytphg jnLpwpwljniphg 6h2wn JGY hwwn, hug np wuhwjwun hGppwywunipjwu:

Anp Ywpnn Gp punptp I W r» nhpptp W hGunljw| wnbuph hwpg wnwi. «Nppw”u t
P, + P1 + -+ + P pybph gnudwinp»:

Qtp puunhpu £ qunub] 1-h nhppp P-nud oqunwignpdbin huwpwynphuu phg hwngtp: Qtn
Jhwynpp Ywhugwé E |hubine tnqwé hwupgbph pwuwyhg:

dnpugnpbdwygnLpjnLu

Qtp 6pwaghpp uygpnud wewnp £ Yywpnw, UGy innnnud inpjws, Gpyne wdpnne T'W N pybLnp:
T-U gnyg Ennwhu, pt pGutnwynpdwl pwlh thny wbwnp Ewuguh atp épwaghpp, huy N-p F
-h GpywpnieynLuu E:

UnpwUhg hGuinn qwhu GU T thnybn.

Enp thnyp uyuynud E, nnp Ywpnn Gp uyub] hwpgtp vnwp: Swbp “? a " wnbuph wnnn,
wwnqtint hwdwnp a nhpphg UhuzW b nhppp, UGpwnjwi pytnh gnudwpp (0 <a <b < N —1):

3nLpwpwlgnin hwnghg htwnn atp dpwahpp wtwp £ Ywpnw Jd6y wdpenng phy’ pytph
gndwpnp LpJwd hwinywdnid:

ZGug np gunubp 1-h nhppp, Lwbp “! i" innGuph wnnn, npuntn -U wjuwyhuh huntp E nnp
P, = 1: Yw vnwGintg hGunnn uyuyh hwennn thnyp:

2wudngytp, np hwpg tnwntg htnnn nwunwnpyt| Gp unnwunwnw Gpp, hwwnwy nEwpnud
atn épwaghpp Ywpnn uwnwlw| Time Limit Exceeded ybthn: Python-nud print() -p
JGhuwluhynptu nwunwpynud E: C++ |Ggynud cout << endl; hpwdwlup Unyuwbu
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nwwnwnpynwd E Uunp wnnn wnwbine hGwn:  printf ogunwagnpdtint nGwpnwd, agpbp
fflush (stdout):

UwhdJdwlUwthwyncdutp i Jhwynpubp

Qtn 6pwahpp unnigybine £ UGy test case-ny, npintin N =T = 1000: Gpt2huwynnpynid £, nn
jnLpwipwlgnip pGunnd inGnwithnpuncp)nlup gutpwgynd Eywuwnwhwywu YGpwny:

Gt atp (nwbnuwp thnytphg nplkt JdGynw upuw] gnpwynwd E wunwd, aGp nunwipywé
opwahnp Yuunnwlw Wrong Answer Jyéhn:

wlywnwy ntwpnd Jhwynpp hwadbint hwdwp Yyhpwnyh htnlyw| pwuwalp.
score = min (220 — %, 100) points,

npuintn M,p pninn T thnyGnpnud a6p 6pwagnph wpwd hwpgbph punhwunwp pwuwyu E:

Uhwdnpp yinpwgytbint £ Jhugle Uninwiw wdpnng rrhyp: Gpt unwgyh pwgwuwywl phy,
Ywnpdh gnn dhwiynn:

Ujuwtiu, Gpt nnp ogunwagnpétip 550000 Ywd wytb] hwpg, yunnwuwp 0 Jhwynp, huy Gpb
hwnpgbph pwuwyp (huh 300000 Ywd wywlwu, yunwlwp 100 Jhwynp: Wn Gpynwuh Jdhole
Jhwynpp thnfuyned £ géwjunnptu:

[FGuunnwynpduwl gnpdhp

Qtn |nbnudp unnwgbint hwdwin, JGup atg wwwhnynwd Gup Uh hwuwpwy gnnéhpnd, npp
nnp Ywpnn Gp ubppbnub): SE'u “attachments”-p kattis-nud puunph Eph Utpplh Jwunud:
Annpéhphg ogunybp pun gwuyncpjwl £, nnp Ywpnn Gp bwl wju thnthnpubi: LwuwinBup,
np kattis-nud &Gnp 6pwahpp unnignn W quwhwwnnn wyw2unnuwywlu dpwaghpu nuph E
(hubnc:

Ogqunwagnpédwl ophbwy (hnwnnkn T=1000, N=10):

dwjplny 6pwgnh hwdwnp, wubUp solution.py (W2huwwnwgnbp pypy3 solution.py):

python3 testing tool.py pypy3 solution.py <<<"1000 10"

C++ 6pwanptph nGwpnud, bwhu yndwyhiwgptp wju (opnhuwly, hGinlyw| hpwdwuny. g++ -

std=gnu++17 solution.cpp -o solution.out)hbGunn whuwwnwgntbp.

python3 testing tool.py ./solution.out <<<"1000 10"
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Onhlwy

Npwbu ophuwy pGpdwd pGunnud T'=2 W N =10: WYu Gpynt thnybphg wnwehundd,
pwpgywéd inbGnwithnpunipintup hGnwjwu k. “6 10 8 7 9 1 2 4 5 3": UnwohU hwpgp 2 0
9 , JGpwptpnw t pninp pytGph gnudwphu, npp 55 £, huy Gpypnpn hwpgp” 2 o0 4,
wwuwnwupiwup 6 +10+8+4+7+9 =40E:

anGntnh wpunwénwp  aGp Spwgnh wpunwdnwdp

210

209
55

204
40

?55
1

15

200
1

10
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